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ADSX J—X B TE=>EUh BTEHR
START 7«47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | e57 | PR & — 3.9 7 sl BE 45 8 FH BE 6.6 10 AGRBIFE 8.8 13
2 zo6 | 703 | KA WHE 4.3 8 #% K 14 6.3 10 B 2 i 8.7 13 EHSES 11.0 16
3 712 | 709 | AL £ 4.6 8 s EZ 5.7 9 £33 BE 5.9 10 £ ) ¥ 6.8 11
4 718 | 75 | P R & 3.9 7 AR F— 8.1 12 FrE 5% 10.0 15 " BE 10.5 15
5 724 | 721 | L & 153 3.9 7 B B 5.9 10 iE 2 5 6.2 10 =Nl #£8 9.1 14
6 730 | 727 | fEX RE 5.4 9 AR —=F 6.0 10 m =] 6.5 10 m# K3 8.1 12
7 736 | 733 | HIR BR 4.4 8 #H RIEB 7.3 11 BHEH 8% 7.7 12 gl KA 9.6 14

BUSA d—X EUBn=FbE RTEH
START | 7«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | es57 | AR BEIE 14.1 15 L1 B 19.2 21 B #& 204 22 E R 2 208 23
2 706 | 703 | @ B 11.7 12 #HE W 11.8 12 AH E3h 18.2 20 =i# IE= 227 25
3 7:12 | 7:09 ®BEH X 15.4 17 BE X&H 18.4 20 e =H 19.7 22
4 718 | 715 | Il B b= 115 12 &% K Ei 12.7 14 N B BE 1T 13.2 14 hl B 14.2 15
5 7:24 | 7:21 Hix = 125 13 X 1 A 13.3 14 =% 8 19.3 21

ZF d—RX FOE&=F TR L TEA
START 7«47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | A B = 5.9 7 BEH & 10.4 12 A W 5 127 15 B E=x 16.5 19
2 7:06 | 7:03 B 2 = 7.8 9 mMHAERF 6.9 8 wig =& 9.6 11
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